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Notes about GRIDLOCK crosswords:

* The clues will be listed in numbered groups, each clue showing its letter count as usual.

* Answers to a group of clues will be entered into the ring with that number, each word
both starting and finishing at triangle cells.

* There is no indication of whether each word runs clockwise or anticlockwise: this must be
deduced.

* There is no indication of which triangle each word starts in: this must be deduced.

If this sounds hard, bear in mind that the endpoints are shared: each is either the first or last
letter of each of two answers in a group. This will really help in figuring out how the
answers in a ring chain together. Also, because rings share three contiguous cells with each
adjacent ring, this should make it possible to deduce where each word goes, by examining
the letters in each ring.

torus-0036-7b-r6-bound-tessellated-hex-20240923



